
PROPOSED PROBLEM 

by Thomas Martin 

Let TJ:Z· ~ N Smarandache Function: TJ(m) is the smallest in~ n such that 
I . ..&. ':"':1..lc by n. 1SUl~ m. 

a) Prove that for any number k E R .there exist a series {p: L ofpositive integer numbers 

suchthat: 

L li p, k 
= '~TJ(P,) > 

b) Does L = lim --'!!..- diverge to +00 . 
"-17(m) 

Solution: 
a) Let p. be a prime number greater than Ie. Indcx j is fixed. We construct , 

P, = PIPI+. , for j = l,2,3 .... 

Lemma 1. If u < y arc prime numbers, then TJ( U\1) = y. 
Of,.,.,"""- .. I -1.2. .u.. .. = ~.H = ~.H 
~~ r. - ••••••• • ••• ".. '-"'",." '-""t£. 

Hence TJ(p,) = p 1+' , for any i = 1,2,3... where P 1+' is the j + ida prime number. 
Then L = p} > Jc. 

b) Because there exist! an infinity of primes : P J • P J+l ••••• , greater than Ie , we find 

an infinity oflimits for each {p'(})}j series, Le. L = Pl+l or L = P}+2 etc. 

Therefore L = lim --'!!..- docs not exist! 
--TJ(m) 
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